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QUESTION NUMBER ONE :

VOCABULARY :

For items ( 1- 23 ),choose the correct option form from ( A, B ,C or D ) to complete
each of the following sentences.

1. More and more schools have begun posting their own home pages on the

A) floppy disk B) world wide web C) computer chip D) smart phone

2. A doctor looks at the of the illness before he makes his diagnosis.
A) dementia B) pills C) symptoms

3. My grandfather was very ill and suffered from a variety of
A) limbs B) ailments C) options D) commitments

4. The in - car heart will be used keep an eye on those with a heart
problem while they are driving .
A) monitor C) allergy D) drug

5. This book’s title and I picked the book .
A) attended the course B) took an interest C) caught my attention D) got an idea

6. The serious illness that is spread by mosquitoes is called:
A) malaria B) migraine C) stress D) obesity

7. Seeing red has negative effects on your health.
- the underlined colour idiom in the sentence above means :
A) getting angry B) feeling sad C) permission D) unexpectedly

8. A good way to cope with stress is to relax and get some exercise.
- The underlined phrasal verb in the sentence above means :

A) to deal successfully with a situation.

B) to start to be successful again after a difficult time.

C) to direct your attention or effort at something specific.

D) to have or give permission to go ahead with something.
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9. Doctors often treat infections with antibiotics; that is the approach.
A) conventional B) strenuous C) alien D) acupuncture

10. Another way of saying that something could be successful is to say it is
A) viable B) alien C) dental D) optimistic

11. Older people tend to suffer from more than younger people.
A) ailments B) antibodies C) sanitation D) infant mortality

12. The Olympic Games often young people to take up a sport.
A) risk B) inspire » C) fund D) sponsor

13. Before doctors prescribe drugs to patients, scientists perform
make sure the drugs are safe.
A) symptoms B) medical trials C) fireproof D) monitor

14. The King Hussein Cancer Center is Jordan’s only comprehensive cancer
treatment centre which treats both adult and patients.
A) paediatric B) radiotherapy C) coma D) bionic

15. After our Science lesson , we always help the teacher to put the
A) limbs B) apparatus C) appendage D) scanner

i means a program that checks whether a certain content on
a web page should be displayed to the viewer .
A) Filter B) Whiteboard C) Calculation D) Blog

17. The sentence in which the colour idiom is used correctly is:
A) The minister gave the white elephant to catch the thief .

B) Nobody played in the stadium . It sees red .

C) The firm was giving red- handed to start a new project.

D) It’s normal to me to feel blue especially in Autumn.

18. The recycling project has been carried out in my school.
A) success B) successful C) succeed D) successfully

19. Experienced Jordanian doctors can easily human bodies using
ultrasound devices.
A) scan B) scanned C) scannable D) scanner

20. When you are tired , it's easy to lose your
A) concentration B) concentrate C) concentrated D) concentrative
SEE PAGE THREE...
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21. When a person has an disease , he is usually isolated .
A) infection B) infectious C) infectiously D) infect

22. Bank customers can their checking accounts through the electronic system.
A ) access B) accessible C) accessibly D) accessed

23.Training makes workers highly ....cccceremsmmemmnsssnsnsannns .
A) produce B) production C) productive D) productively

GRAMMAR PART ONE :
For items ( 24- 39 ),choose the correct option form from ( A, B ,C or D ) to complete
each of the following sentences.
24.Three of my articles last month in the local newspaper.
A) have published B) has been published
C) will be published D) were published

25. Some medicine for my grandfather to treat migraine monthly .
A) is prescribed B) are prescribed C) will prescribe D)prescribes

26. Before she went to the library, Huda her mother to prepare lunch.
A) helps B) had helped C) has helped D) have helped

27. Soon we packing for our holiday.
A ’re going to B) ’ll be C) will have D) were

28. Samer his computer last week .
A) has /repaired B) is / repaired C) had/ repaired D)was/ repairing

29. | didn't like getting up early, but I'm .
A) used to it B) use to it C) used to D) use to

understand English, but now I do.
A) use to B) am used to C) didn't use to D) am use to

B o . Y . about his friend when he received a text from him.
A) has been thinking B) had been thinking
C) has thought D) have been thinking

32. We’re late! By the time we get to the station, the train
A) went B) will go C) will have gone D) has gone
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33. Please be quiet when you come home tonight. The baby
A) will be sleeping B) has slept C) was sleeping

34. Next month, we.......ccccemumimmananannes .in this house for a year. Let’s celebrate!
A) will be living B) will live C) will have lived D) are living

35. This month next year , Ali his final presentation in the university
before graduation.
A) will be discussing B) will discuss C) has discussed D) is discussed

36. It’s three o’clock now, so Miriam’s flight at Queen Alia
International Airport.
A) will have arrived B) had arrived C) arrived D) was arrived

37. In three years’ time, my brother. graduated from university.

A) has B) will have C) is going to D) will

38. In the future, it that over 40% of population in Jordan will have
smartphone.

A) estimate B) is estimated C) was estimated D) are estimated
39. my car . That’s why my hands are dirty .

A) have been cleaning B) had been cleaning C) am cleaned D) had cleaned

GRAMMAR PART TWO :

For items ( 40- 45 ),choose the correct sentence from ( A, B,C and D)
which has a similar meaning to the one above :
40. “ I’d been living in London for five years.

A) Razan said that she has been living in London for five years .

B) Razan said that she had been living in London for five years .

C) Razan said that she had been lived in London for five years .

D) Razan said that she had lived in London for five years .

41. Schools have spent a lot of money on technology.
A) A lot of money had spent on technology.
B) A lot of money have been spent on technology.
C) A lot of money has been spent on technology.
D) A lot of money has spent on technology.

42. | asked someone to fix my computer.
A ) 1 have my computer fixed . B) I had fixed my computer .
C) | had my computer fixed . D) I have fixed my computer.
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43. Tala took three English courses and then she went to London to study medicine .

A ) After Tala had gone to London to study medicine , she took three English course.
B) After Tala went to London to study medicine , she took three English courses.

C) After Tala had taken three English courses, she went to London to study medicine.
D) After Tala went to London to study medicine , she had taken three English courses.

44. It's normal for me now to work from home .
A) |1 am used to working from home now.

B) 1 used to work from home.

C) 1 used to working from home now.

D) 1 am not used to working from home now.

45. | had difficulty in driving cars in the past , but now | can drive well.
- The sentence above means that :
A) | am used to driving cars well now.
B) 1 used to drive cars well in the past.
C) | am used to drive cars well now.
D) I used to driving cars well in the past.

EDITING AND FUNCTIONS

For questions ( 46- 50 ), choose the suitable item form of those given to complete

each of the following sentences.
46. The life figures show that Jordan's healthcare system

successful.
A) expectancy / was B) expectancy/is
C) exbectancy / are D) exbectancy were

47. My grandfather has so he sometimes finds it

difficult to write .
A) arthretis /: B) arthratis /. C) arthritis /, D) arthritis/ ?

48. Despite the recent advances in technology , it is still unreliable an

The function of using the underlined word _Despite is :
A) consequence B) opposition C) conclusion D) recommendation

49. Treatment and medicines will taste as delicious as real food.

The rhetorical device which identifies the above sentence is :

A) simile B) personification C) metaphor D ) onomatopoeia
50. One of the earliest computers took 25 minutes to complete one

A) calculation B) calcalation C) calcelation D) calcilation
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QUESTION NUMBER TWO : READING:

Read the following texts carefully, and then in your ANSWER BOOKLET, answer all the
questions that follow. Your answer should be based on the text.

TEXTA: ( 20 points)
Most doctors used to be sceptical about the validity of homoeopathy, acupuncture and
other forms of complementary medicine. If patients wanted to receive this kind of non-

conventional treatment, they used to have to consult a private practitioner who was
likely not to have a medical degree. However, in recent years, the perception of this
type of treatment has changed. These days, many family doctors study complementary
medicine alongside conventional treatments, and many complementary medicine
consultants also have medical degrees.

Whereas critics used to say that there was no scientific evidence that non-conventional
treatments actually worked, now it is more common for medical experts to recognise
that conventional medicine may not always be the only way to treat an ailment.

At a surgery in London, 70 per cent of patients who were offered the choice between a
herbal or a conventional medicine for common complaints such as insomnia, arthritis
and migraines chose the herbal remedy. Fifty per cent of patients then said that the
treatment helped. One doctor said, "l now consider homoeopathy to be a viable option
for many different conditions, including anxiety, depression and certain allergies. It
provides another option when conventional medicine does not address the problem
adequately.”

1. Write down the sentence which indicates that most doctors didn’t use to be
convinced that complementary forms of medicine work. ( 5 points)

2.In recent years, the perception of complementary medicine has changed. Write down
two reasons for that. ( 4 points)

3.Many medical conditions may be possible to be treated using complementary
medicine. Write down four of them. ( 4 points )

4 What does the underlined pronoun & they” refer to?......ccccemimrmrmssmssmsnmsnsnsnnsnnnnnnnsss

( 4 points)

5. Complementary medicine has gained wide recognition all over the world. Suggest
three reasons that make patients choose to turn to complementary medicine. ( 3 points)
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TEXT B : ( 20 points)
Scientists have already developed brain implants that improve vision or allow disabled
people to use their thoughts in order to control prosthetic limbs like arms, legs or hands,
or operate a wheelchair. In 2012 CE, research on monkeys showed that a brain implant
improved their decision-making abilities. How will humans benefit from this research?
Scientists hope to develop a similar device to help people who have been affected by
brain damage, which could be caused by dementia, a stroke or other brain injuries.
In 2010 CE, neuroscientists confirmed that it was possible to communicate with some
patients in a coma, by using a special brain scanner called an MRI. They suggested that,
in the future, more meaningful dialogue with patients in a coma would be possible. Two
years later, it has finally happened. The scanner, used on a man who has been in a coma
for more than twelve years, proves that he has a conscious, thinking mind - a fact that
had previously been disputed by many. Doctors plan to use similar brain-scanning
techniques in the future to find out whether patients are in pain, or what they would like
to be done in order to improve their quality of life.
A new cancer drug is being trialed in Plymouth, UK, which doctors hope will extend the
lives of cancer patients and reduce their symptoms overnight. It is taken as a single pill
every morning, and so far patients have shown none of the usual side effects such as the
sickness and hair loss that are experienced when undergoing other forms of cancer
treatment. The new treatment works by blocking a protein which causes cancerous cells
to grow. It will improve patients’ life expectancy and quality of life much more quickly
than any other treatment.

1. Brain damage could be caused by several factors . Write down two of these factors .
( 4 points )

2. Write down the sentence which shows the way how the new treatment works .
( 4 points )

3. Find a word in the text which means “ a small round piece of medicine to be
swallowed whole ( 3 points )
4.Doctors plan to use brain scanning in the future to reveal two main aspects .
Write down these two aspects . ( 4 points)

5. He who has health has hope , and he who has hope has everything . Think of this
quotation and , in two sentences , write down your point of view. ( 5 points )
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QUESTION NUMBER THREE : FREE WRITING : (10 points )

In your ANSWER BOOKLET, write a composition of about120 words on ONE of the
following:
1. In many countries, an increasing number of young people and adults are overweight
or even obese. Write an article , discussing the main reasons of obesity and
suggesting different ways to overcome this problem.

2. Some students enjoy long summer vacations while others prefer short summer
vacations . Write an article discussing the advantages and disadvantages of each .

THE END
TEACHER OF ENGLISH : JAMAL SAFI




MODEL ANSWERS
21. 31. 41.
22. 32. 42.
23. 33. 43.
24. 34. 44.
25. 35. 45.
26. 36. 46.
27. 37. 47.
28. 38. 48.
29. 39. 49.
30. 40. 50.

OIRINS ARILN =

> > >PPoOoP WO
> > 00> E>EE P
OPOBIP>»OOP>PT
WP HwP>P>0POn
> BB OIEP> P OO0

-
o

QUESTION NUMBER TWO
TEXTA:

1. Most doctors used to be sceptical about the validity of homoeopathy, acupuncture
and other forms of complementary medicine.
2. These days, many family doctors study complementary medicine alongside
conventional treatments, and many complementary medicine consultants also have
medical degrees.
3. Any four of the following : ( insomnia, arthritis , migraines , anxiety, depression and
certain allergies )
4. patients
5. 1. Complementary medicine has been proven to treat some ailments

2. It is cheaper than some kinds of modern medicine.

3. It has less side efficts.

TEXTB:

1. Any two of the following ( dementia, a stroke or other brain injuries. )
2. The new treatment works by blocking a protein which causes cancerous cells to grow.
3. pill
4. to find out whether patients are in pain, or what they would like to be done in order to
improve their quality of life.
5. | agree with this quotation because it is possible to feel optimistic about the future when

one is healthy. Hope for the future and a positive attitude are seen as, overall, the most
important things in life.

QUESTION NUMBER THREE :
Open Answer .




